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Flfteen percent o the males are
graduates. Remaining males are non-
graduates. Three-fourth of the females are
graduates. Remaining females are non-
graduates.
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What is the difference between the number

of the females who are non-graduates and

E—,%e numbpqg of male% vs\gj{o s?rre graduatesé?
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- G NG  are graduates and the number of the males
who are non-graduates?
M=160 24 3T T TEAT ST AL-|TaF Tt
FT 87
1 184 2.96 3.156 -84 5. 196
F =80 20 fdns
3¢+ €O e

= 19¢




24

males to the number of the females who
are non-graduates?

A-ATAF T WSﬁTH‘%ﬂT@ﬁH‘@TW

WEPJT
81 3.83 4.5:2 5.7:2

éo X0

D) b




MISSION IBPS PO - 2023 (TARGET BATCH)

There are 450 coupons which can be used in
Pedicure and Hair cutting. Ratio between Males to
Females who use their coupons in Hair cutting is 13 :
7. Number of males who use their coupons in
Pedicure is 72 more than humber of females who
use their coupon in Hair cutting. Total number of
males who use their coupon in Pedicure and
Haircutting together is 174 more than total number of
females who use their coupon in Pedicure and
Haircutting together.
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There are 450 coupons which can be used in
Pedicure and Hair cutting. Ratio between Males to
Females who use their coupons in Hair cutting is

13 : 7. Number who use their coupons in
Pedicure is 72 morethan number of females who

use their coupon in Hair cutting. Total number of

males>who use their coupon in Pedicure and
Haircutting together is 174 more than total number
of females who use their coupon in Pedicure and
Haircutting together.
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Males who use their coupon in Pedicure
is what percent of the Males who use
their coupons in Haircutting?
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Find the ratio between Total number
persons who use their coupons in

Pedicure to total number of persons who

use their coupons in Haircutting?

TSI | I AT T START FHLA qTA
S T FEaTe | T HIT T STANT FLA

Tl A AWML T AT AT ol TorA
A. 52 : 23 B.8:9 C.8:7
D.7:8 E. None of these




MISSION IBPS PO - 2023 (TARGET BATCH
@ (T )

Females who use their coupon in

1 56 1 56 Haircutting is how much more than
Females who use their coupon in
F @ Pedicure?
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Out of males who use their coupons in

Haivcutting, 25% belongs to city A, then
84

find number of males who use their

| coupons in Haircutting which doesn’t

y belongs to city A?
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population of the six different cities from year the year 2001 to

2002, 2002 to 2003 and 2003 to 2004.
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find the population of the city in the year 2001. .
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the populatlon of the city in the 2004
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population of the city R from the year “2001 to 2002” to “2003 to

2004”.
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maximum from the years 2001 to the years 2002.
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the maximum for the city T.
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